[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005F

1.0

H
+
4
+
.
4
)
i

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit_CANDFINAL100stable
Efficiend —— pom_v0001_R000000001__Global__mkFit_ CANDFINAL100stable2

~ 0.1

8 0.09F | oo

® = : . : : :

> 0.08fF e e f i

> - . . . . H

LC) E B B H N H

R o it || AR S

o o : . ! . .

£ 0.06F i hefrodeeeennes

[©] o : ! : : :
N I Rt IRSE S £ | EERE B
0.04F |- geit-eees Beeeen
0.03F++ecbef oo Beeeeas
0.02F +--++i+f- -+ it +
0.0TF =+t 'ﬁf';’#{ﬂ' H

e PPN N I A PG £ S

I r :

hd [

| Y [V T G

0¥™p =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

>
50.045

E
50.04

4
T
ik
T

068 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


